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1,400,000 53] 7,000
SHMSAIE 717 Y 25T
1,000,000& 105 10,000
401 Al&HIZ 20| 531,569 384,800 146,769
= 7,384
= 524,185
01 Al&HI 529,569 384,800 144,769
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2A:

AL A

M HEAE KX2c
Rl AIEE =722 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o=, BEF S AIE B SA
10,000,000 * 102 100,000
o™l JIAANE S B SA
10,000,000& %53 50,000
=3 - Il HE F2(3h2)
10,000,000& »23] 20,000
oEdd, )| M2
4,000,000 2CH 8,000
°3ZJ| 2y 2,000,0002 +5CH 10,000
oAAE OI0A 2H A
60,0002 x40CH*23 4,800
oA G| WA 10,000,000 10,000
ox=dd ASII| B 10,000,000 10,000
oA JAHLHl E(SXD|, d22D,
E¢3 8) 150,000,000& 150,000
oELSHEZ S| B
15,000,000 15,000
oALR S YA Y
5,000,000& 22 10,000
oXFL HE U (E X
8,000,000 <22} 16,000
oHIZRAEl AELS =E0IE A2
2l 22,000,000 22,000
o¥4zE 28y MUsl2el
12,000,000 12,000
oMY t2=nd MU SRl
8,000,000 8,000
oM det2Eand &CsAl2el
12,000,000 12,000
o¥AZ MASEH AR
20,000,000& 20,000
oYX WIASZAHSY NS A2
20,000,000 20,000
oE2dSH=2 It EH
5,000,000& 22} 10,000
ozlgld It EH
3,500,000 23] 7,000
oGP BHDIDIA MZHEX &X
3,692,000 *4CH*90f% 13,292
= 7,384
o 5,908
oG HOIOtA MZHEX AXI(ZHIFIH)
1,477,000& 1,477
03 AIZ2THYI 2,000 0 2,000
SHISAIE SANES 22| PRFE
2,000,000 2,000
ZET MASTE ARIEAMS(HEAIY) 1,500,000 2,000,000 A500,000
[ 450,000
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2A:

AL A

M HEAE KX2c
Rl AIEE =722 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 1,050,000
401 AIEHIX 20 1,500,000 2,000,000 /500,000
=S 450,000
s 1,050,000
01 AlZ8| 1,500,000 2,000,000 A500,000
oddz MIA=ZY gAY
1,500,000,000& 1,500,000
< 450,000
s 1,050,000
FdZ USE AUMS2 A8 (HEAY) 530,000 0 530,000
= 159,000
Ea 371,000
FdZ USE AUMSS ASAS (HEAY) 530,000 0 530,000
=S 159,000
s 371,000
401 Al HIZ R 0HbI 530,000 0 530,000
== 159,000
[Ea 371,000
01 Al&HI 530,000 0 530,000
o4 U=sH AUMSs2t dE MY
530,000,000 530,000
= 159,000
= 371,000
HH2LIHI(HMFAIL L) 336,646 330,128 6,518
el 21,441 22,756 A1,315
elIg =3l 21,441 22,756 A1,315
101 e124d| 21,441 22,756 A1,315
01 &= 21,441 20,034 1,407
oAZe2eg
11,6023 x14H 1Al 2t 12 21,441
Jl=3H| 315,205 307,372 7,833
Jl=23H] 315,206 307,372 7,833
201 er23y| 308,505 300,772 7,733
01 AtR2t2lHI 66,040 58,460 7,580
OMNFAURE AEE 12,600
ANFRES 20,0002 x205+43] 1,600
—SAIEA 25,0003 108t A% 123 3,000
-l S dMaRE
250,000 +8LH*43] 8,000
cANE2d HLES 7,880
—AIAl 25,0002 +x65+123] 1,800
-St& Xl 40,0003 208} A*43] 3,200
e EAES 40,0002 x155+23] 1,200
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A HSAE A
M HER2IIHI(MSAEL)

SoT oo

&t JI=Z

S A - BRI - NRA - BES of e A
-MDISEH SF
700220001 =128 1,680
o=ADl, ZelH S 33l =d
100,000 *7CH*12] 700
SEE=) 30,0003 x55+23] 300
o1gAS 10,0002 * 15512 150
ogXsg 18,090
-2 60,0002 x12*119& 7,140
=7 30,0003 x1H+365& 10,950
SU2A=R 5,280
-S2Al 20,0003 +75x 122 1,680
NN 15,0003 20+ 122 3,600
oHISAE A BAE 225
200,000& »1ZH#22] 400
odeI| PRz 50,0003 x250H « 12 15,000
o3y MEI| Xtz
25,0002 «14CH= 123 4,200
o3JIEEI gxt&g
60,0003 x2CH* 122 1,440
02 s3=gHl 242,465 242,312
oRURS 356
-t 430+ 1085122 52
=" 2,530 x10S5+122 304
ocMIIRs, dEMNE
19,000,000& ~12& 228,000
og - otk Q= 1,000,000& «12& 12,000
oQIHU M AIEZ
25,0003 *43] &4+ 1238 1,200
om&U 1,682 %540 £ »1CH 909
203 =4l 6,700 6,600
02 32 JRHH 2= 1,480 1,440
oXMEO APIZIE HH|
40,0002 +37E 1,480
M EA2HER=AH 5,220 5,160
=302l =t
(400,0002+(5,0002+7H ) )« 122 5,220
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